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Instructions to Candidates

Read the instructions carefully before you start
answering the questions. Answers are to be given on a
OMR Answer-Sheet provided.

1. In this Paper you are to answer 90 questions,
Each question carries 1{one) mark. You are to answer
all the questions.

2. Before you proceed to mark in the OMR
Answer-Sheet find out the correct answer from the four
alternatives (a), (b), (c) and (d) against each question in
the Question Booklet. Darken the circle with a Black
Ball Point Pen, to the corresponding correct answer for
the item in the OMR Answer-Sheet.

Eampie: @ @ © @

(Here ‘b’ is the correct answer.)

3. If more than one circle is encoded or darken
against a particular answer, it will be treated as a wrong
answer.

4. There will be no penalty marks or negative
marking for a wrong answer.

5. You are to start recording answers with the
‘start’ instruction from the Officer-in-Charge of your
room/hall.

6. You are to write your Name and Roll No. in
the space provided with for this purpose on the OMR
Answer-Sheet. Y ou must encode your Roll No. in the
OMR Answer-Sheet.

7. The OMR Answer-Sheet should be handed over
to the Invigilator before leaving the Examination Hall.
You may take away the used Question Booklet after
completion of the examination.
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MENTAL ABILITY TEST

5.

(Questions 1—10)

DIRECTION: In each of the questions
1 to 10, there are four items, three of which
are alike by some means or other while one is
out of the class. Find out the odd item and
give the answer by filling the circle of the
letter denoting your selected answer on the
O.M.R. Answer-Sheet.

(ert 1—10)

(Tt 2 1 (2 10+ 2rerio A B1FM R o
Iz, TE 6 @ (@ed 9Ty @R
A AR | G AT AGS G I A
Taals s o @3z O.M.R. Tezeian B

TG+ S (o Ter T S )
1. (a) MPQR
(b) ADEG
(c) RUVX
(d) HKLN

2. (a) Rhombus
(b) Paralleogram
(c) Triangle
(d) Traphizium

3. (a) Table Tennis
(b) Carrom
(c) Chess
(d) Hockey

4. (a) Book
(b) Pen
(¢) Pencil

(d) Compass

10.

(a) Kolkata
(b) Kanpur
(c) Simla

(d) Agartala

(a) Sister

(b) Brother
(c) Friend
(d) Mother

(a) 126
(b) 154
(c) 224
(d) 240

(a) 626
(b) 841
(c) 962
(d) 1090

(a) 38
(b) 46
(c) 72
(d) 26

(a) 127
(b) 345
(c) 361
(d) 514



(Questions 11—20)

DIRECTION: Read the questions carefully
and give the answer by filling the circle of the
letter denoting your selected answer on the
O.M.R. Answer-Sheet.

(er 11—20)

(Aot 2 eiefd eeea oo, Fon Serehm
W (U0 AT Teaflb v @ 992 O.MLR.
Tegetad WS I 299 @ comm Tew e
]

11. ‘Lung’ is related to ‘Air’, in the same

way as ‘Heart’ is related to

TN 43 O (AT QY -7 7%, (ool
TN -7 AT T

(a) Food (¥m7)

(b) Harmone (Z3371+)

(c) Blood (z%)

(d) Chest(3%)

12. *Chef’ is related to ‘Kitchen’, in the
same way as ‘Scientist’ is related to

T -G AN @ ARG -G T,
(o “Rearar-z e s

(a) Medicine (€3¥)

(b) Pharmacy (‘€3 @i<ia)

(c) Laboratory (siczgeai)

(d) Clinic (&)

13. ‘Pen’ is related to ‘Ink’, in the same

way as ‘Needle’ is related to

‘O -7 AN @I BT -7 FoF, cowl
5 -2 A FoAFw

(a) Thread (37e1)

(b) Cloth (F#1%)

(c) Stitching (GT#2)

(d) Art (P

[4]

14. ‘Clock’ is related to “Time’, in the
same way as ‘Thermometer’ is related to
GG"-F L (T © FN a7 S9fF, (ol
QTG -97 AL 71 Ee
(a) Heat (S1#))
(b) Radiation (f3f=e)
(c) Energy (*f&)
(d) Temperature (Siesrar)

15.  ‘Tongue’ is related to ‘Taste’, in the

same way as ‘Eye’ is related to

fore’-a AL @ T -7 T e,
(SO ‘(G143 AR He~AFe

(a) Hear (ea=)

(b) Vision (¢r<1)

(c) Smell (51%)

(d) Touch (=pf=sz)

16. ‘Oxygen’ is related to ‘Burn’, in the

same way as ‘Carbon-di-oxide’ is related to

SRCET -7 AR @ (o7 o
TNCE, (SASITT ‘FIET-T3-SHRE a7 HI(e T
=

(a) Extinguish (o)

(b) Isolate (fafzm)

(c) Foam (=)

(d) Explore (i« zar)

17. “Village’ is related to ‘Panchayet’, in
the same way as ‘Town’ is related to
‘A -9F AN @ ARG -7 oo
IR, (SO *gq a7 AR F=olFS
(a) Zilla Parisad (fe= #ifeaw)
(b) Panchayet Samiti (ieizare #f3fS)
(c) Gram Panchayet (2% si%e7ze)
(d) Municipality (ReRfiemf)



18. ‘Square’ is related to ‘Cube’ in the
same way as ‘Circle’ is related to

ICFG -0 MY @ G99 T
TR, (SHSI ‘@~ AN FoifF

(a) Sphere (¢siiFir)

(b) Ellipse (¥sige)

(¢) Cylinder (c5re)

(d) Cone (*1)

19. ‘Chalk’ is related to ‘Blackboard’, in
the same way as ‘Ink’ is related to

BE AT M @ GRE-9T FAF
couf ‘fer-az e FifFs

(a) Paint(z®)

(b) Chair (¢7=)
(c) Paper (Stsrer)
(d) Door (7ae)

20. ‘Water’ is related to ‘Sea’, in the same
way as ‘Sand’ is related to *

T AW WE-eT A AF o,
GRS -7 e FooifFe

(a) House (31f®)

(b) Desert (srFefi)

(¢) Road (31%r)

(d) Mountain (si121e)

[5]

(Questions 21—30)

DIRECTION: In each of the questions
21 to 30 same codes have been used to write
words. Try to find out the rule of coding in
each case and answer as per direction in the
O.M.R. Answer-Sheet.

(ert 21—30)

(et 2 21 (¥t 30 e sirerefl aios = @7 &g
g 31t e 1 TR | @if% CwE T
fmfs sepmm s o8 TE 9 T el
O.M.R. Sez-iaz i@ 3@ szt a7 coiwig Bew
foifae 3t ]

21. If ‘GO’ is coded as ‘22’ and ‘SUN’ is
coded as ‘54’, then the code of ‘SOUTH’ will be
" ‘GO’ -7 7F® 22" @3 ‘SUN’-a7
S 54 5y, °1 ‘SOUTH’-43 73e 371
(a) 83
(b) 81
(c) 80
(d) 84

22. In a certain code, if ‘MADRAS’ is
written as ‘DAMSAR’, then ‘BHUPAL’ will
be coded as

W I TSR ‘MADRAS & (#741
20 ‘DAMSAR’, %73 ‘BHUPAL’ ¢3¢ 7@ 373

(a) UBHLPA

(b) UHBAPL

(c) HBULAP

(d) UHBLAP

23. If the word ‘UMBRELLA’ is coded
as ‘ALLERBMU’, then what should be the
word for the code of ‘DABAHALLA’?

W ‘UMBRELLA’® =g si@e
‘ALLERBMU’ =, (3 @iF *0 ACESS
‘DABAHALLA’ z=?

(a) ALLAHABAD
(b) ALALHABAD
(c) ALLAAHBAD
(d) ALLAHBAAD



24, 1In a certain code, if ‘REASON’ is
coded as ‘5°, and ‘BELIEVED’ is coded as ‘7,
then code number for ‘GOVERNMENT’ is

I @I AR ‘REASON’ 99
TATES ‘S’ @k ‘BELIEVED -93 %i3(3@ ‘7’ 73,
3@ ‘GOVERNMENT’-93 J5F® T3

(a) 10

(®) 9

(c) 8

d) 7

25. Inacoding system, ‘MATH’ is coded
as ‘NBUI’, ‘HIST’ is coded as IJTU, then
‘PHYS’ is coded as

GG HPS AIER ‘MATH' & 0 2@
‘NBUT’, ‘HIST-& @&t =@ ‘IUTU’, wSigE
‘PHYS -(= &1 22

(a) QZUI

(b) OPQU

(c) QIZT

(d) OIZU

26. If rain is water, water is road, road is
cloud, cloud is sky, sky is sea and sea is path,
where do aeroplanes fly?

‘Rain’ aff ‘water’ =@, ‘water’ =@
‘road’, ‘road’ ¥ ‘cloud’, ‘cloud’ =@ ‘sky’,
‘sky’ T ‘sea’, W19 ‘sea’ &¥ ‘path’, [ GAAN
(SRR EIRCTARS

(a) Road

(b) Sea

(¢) Cloud

(d) Water

27. If water is called food, food is called
tree, tree is called sky and sky is called wall,
then on which of the following a fruit grows?

T ‘water’ & ‘food’ 71 =, ‘food’-&
‘tree’ I T WA ‘tree’-@ ‘sky’ @M =W, @R
‘sky’-@ ‘wall’ IeTl 231, ©Izte JeTF 8947 “fruit’
grae

(a) Water

(b) Food

(c) Sky

(d) Tree

28. In a certain code language ‘134
means ‘I LOVE BOOKS’, ‘478 means
‘BOOKS ARE FINE' and 728 means
‘ARE YOU FINE’. Which of the following
digits stands for ‘YOU’?

T ol 7S AwEs w134 W
‘1 LOVE BOOKS’, ‘478" st ‘BOOKS ARE
FINE’, “728’ s ‘ARE YOU FINE’, €% 4%
FFS YR YOU’ -G A (I F227 a1 @7
qAI?

(@ 7

(b) 1

(c) 2

(d) 8

29. In a certain code language 247’
means ‘Spread red carpet’, ‘236’ means ‘dust
one carpet’ and 234 means ‘One red carpet’.
Which digit in that code means ‘Spread’?

a3 IS ‘247" S ‘Spread red
carpet’, ‘236 Wt ‘dust one carpet’, €3z ‘234’
M ‘One red carpet’; (@ #<5% ‘Spread’-«3
T @R ¢

(@ 2

(b) 3

(© 6

(d 7

30. If ‘You are good’ is coded as ‘2567,
‘We are bad’ is coded as ‘637’, ‘good and bad’
is coded as ‘358’, then what should be the
code for the word ‘and’?

7 ‘You are good’-93 H@w 2567,
‘We are bad’-93 35t ‘637" @R ‘good and
bad’-99 LS 358’ 2, ©(F ‘and’-4F ATFE F
Ll R

(@ 5

(b) 6

(c) 7

(d) 8



(Questions 31—40)

DIRECTION: Following questions are based

on letter series. In each series some letters are |

missing. The missing letters are given in the
proper sequence as one of the alternative. Find
the correct alternative in each case and mark
the right alternative on the O.M.R. Answer-
Sheet.

(em1 31—40)

(o ¢ 7 amiel oree @i s Afeh e
g wwr e | s Remm Il were
SRR A5e wuRpITE e o | 2fel amE
Ao Rwt a2 = O.MLR. Tezeita 8 38 o7
A (SR TG WS 6 1]

31. c_bba_cab__ac__ab__ ac
(a) abebe
(b) acbcb
(¢) babec

(d) bcach

32. _bc_ca _aba_c_ca
(a) abcbb
(b) bbbec
(c) bacba

(d) abbec

33. cccbb__aa__cc__bbbaa_ ¢

(a) aebe
(b) baca
(c) baba
(d) acba

[7]

35.

37.

38.

''aa__aabb__b__aa_ aabb__bb

" (a) abbab

(b) bbbaa
(c) aabba
(d) aabbb

pqr____rsprs_qs_q__

(a) spqrp
(b) pqrsr
(c) sqppr
(@) sqrrp

npgd_q_pg yq _p dyq

(a) ydnyq
(b) pgdqy
(c) yndng
(d) dydgq

pwte__
(a) fpwie
(b) ptfwe
(c) wptfe
(d) fpewt

_fgh _mf _ jm_gh

(a) jfhmgf
(b) mjghfj
(c) fghmjh
(d) mfjhgf

_wt_fp___ef



39. ac_ga eg ce_ _

(a) ecag
(b) ceag
(¢) caeg
(d) gcae

40. __zy_ 7Xy__yXZX__ZyX__ Xy
() xyzzy
(b) zxyzy
(€) yzxyx
(d) yxzyz

(Questions 41—50)

DIRECTION: In each of the following
questions, a number of series is given with one
of the terms missing. Choose the correct
alternative in the position (?) that will continue
the same pattern and answer on the O.M.R.
Answer-Sheet by filling the circle.

(et 41—50)
(ot ¢ Teow 2feh e g sikap @fia st @3
Y AW (e AR | R feve Sfafe () e
7w 9% Tea® O.M.R. Teasitas [i7e 38 sz
TR (W T\ TS FR1 1]
41. 12,20, 30,42, 56, ?

(a) 62

(b) 70

(c) 72

(d) 80

42, 2,4,7,7,12,10,17,13,7, 16,27
(a) 22
(b) 24
(c) 26
(d) 28

[8]

43.

45.

46.

47.

@ o

2%5,5%10,8%x20,7, 13 x 80
(a) 11 x25
(b) 11 x40
(c) 10 x40
(d) 10x25

52,48,44,4,7
(a) 3-8
(b) 36
(c) 34
(d) 32

2,7,17,32,8.77,1
(a) 107

(b) 91

(c) 101

(d) 92

28, 33,31, 36, 2, 39
(a) 30
(b) 32
(c) 33
(d) 34




48. 3,10,101,7?
(a) 10101
(b) 10201
(c) 10202

(d 11012

49. +» 1,1, %9

11
9’3
(a) %
(b) 3
(c) 6
(d) 27
50. 4,10, 28, 7,244
(a) 72
(b) 82
(c) 65
(d) 91

(Questions 51—60)

DIRECTION: Study the diagram which is
given below and read the questions carefully
and give your answer in O.M.R. Answer-
Sheet.

(et 51—60)
ffofe s Tve Bask sieteim 7 3@ 93
el e #itet @9k O.M.R. Teneirg Teq
7whe ]

51. Which of the following diagrams

indicates the best relation between Women,
Men, Boy?

N7 ot Bafd wfeem, 3, TEe-93 0
TR (R 7

@(0)) ®OO
0 OO0 @@)

52. Which of the following diagrams
indicates the best relation between America,
Europe, Continent?

Sise @ foaft S, 38w, sgoe-

GF Y] FAF (TR 2

«@ 09
oD o@

53. Which of the following diagrams
indicates the best relation between School,
Classroom, Blackboard?

v @i oAl 3, IR, PIREIG-aF
) TR R 2 F

54. Which of the following diagrams
indicates the best relation between Doctor,
Teacher, Women?

e @ foald v, Fres, Sfgen-az
T AN (RN 2

(a) @ (b) %D

OOQ elo

(c)



55. Which of the following diagrams
indicates the best relation between Mercury,
Zinc, Metal?

s ret fBaatet T (FIN6! #IfW, 7,
IR T =951 3 (AT SIS ([ 2

@ @) (b)
(© OOO G

56. Which of the following diagrams
indicates the best relation between Travellers,
Train and Taxi?

A orewt Pawsia Wy INe! a6, G,
B W FA=AEE! R (U SIS @R ?

(@) @ O (b) OOO

© @D @

57. Which of the following diagrams
indicates the best relation between Sun, Earth,
Planets?

AN e Baarar sty @Iwt! 71, 5427,
TR T FH=2AEB1 (AT SIETSIE (@RI 2

<a)@O ®)
(c)@ o ()(©O)

58. Which of the following diagrams
indicates the best relation between
Mathematics, Algebra, Formula?

s e FoaweETa Jrg @G s,
Jersfere, H@-a3 e ToAE @RI 2

(@) ® (@)
©(@) (o

59. Which of the following diagrams
indicates the best relation between Professors,
Doctors, Men?

e orew TRVTAR N @6 AT,
TG, 2FF-97 W AAEG! AT (AT ©ESI

- (a)@@ (b)
(c)@ @ (OO0

60. Which of the following diagrams
indicates the best relation between House,
Bedroom, Bathroom?

s ora el e GRb! o7, *TwEE,
JIRFTR Y =251 7] (AF SIS (@RI 2

‘0 @

© OOO (d O @

[10]



(Questions 61—70)

DIRECTION: In each of the questions 61 to
70 a figure or a set of figure is given, each of
which bears certain numbers following a
certain pattern. You have to decipher this
pattern and accordingly find the missing
number in the figure and denoting your
selected answer on O.M.R. Answer-Sheet.

(e 61—70)

[Foft e 61—70 »¥s 2o ooy e By 7awx |
Afsf fora s S g sy waar weit grea
R @2 WAk agd ek et [
fRegIoTer TR | CoTg 3T 2o B R 3
fé® Teaf O.M.R. Teaiaz A8 @ «7¢ 73
T TS T ]

(@ 3
(b) 7
(c) 2
(d) 24

62. (97 |6| (8[5[3][7[5]1
2 |1 3|2 2] 4
3 5 ?
(@ 6
® 7
©) 8

[11]

63.

61.
o O
| (13) ©) (65

65.

(a) 124
(b) 144
(c) 149
(d) 164

(a) 48
(b) 52
(c) 56
(d) 60

10

12

/10

@) 15
(b) 17
© 11
@) 13



66.

67.

69.

(a) 2
(b) 4
(c) 3
(d) 1

6 1

5 |17

(d) 12

101

35

38

43

(a) 127
(b) 142
(c) 158
(d) 188

Gy O
B2
o

(a) 84
(b) 195
(©) 240
(d) 265

(Questions 71—80)

DIRECTION: In each of the questions 71 to
80, three out of four figures are alike in-same
respect and one is different from others. Find
out the odd figure in each question and
indicate your answer by filling the circle of the
letter denoting your selected answer on the
O.M.R. Answer-Sheet.

(2w 71—80)

(it 2 71 ez 80 #fE atufer rerba (remt
51afd s W Teafb et =1 (FATSII =T
G S fER el we | 2 eon G e Baft
@@ a2 Ad7 Teh Fdvw = @ O.MR.
Terenaw RS 78 779 ;R (O Tew e
A

gt
"N el (A |
P BB
© @

(a) (b)

(124



72.

73.

74.

75.

76.

77.

D

() (b) () (d)
(a) (b) () (d)
OO|A[a
(a) (b) (©) (@
() (b) © (d)
(@ (b) © (d)

D

©

(@

[13]

(a) (b) (© (d)

79.

(a) (b) () (d

< =lF 8

(a) (b) (c) (d

80.

(Questions 81—90)

DIRECTION: In each of the following
Questions select a figure from the four
alternatives which placed in the blank space of
figure would complete the pattern. Indicate
your answer by filling the circle of the letter
denoting your selected answer on the O.M.R.
Answer-Sheet.

(eret 81—90)

(e 2 Sisz 81 (e 90 +1fw ewafer WrRIA
o1l R o caices b o <ot ot snef =
! of% 2 e Tea O.MLR. Seaeinad A8 3w

39 B (OIIF Ted e T ()
81. N
N
(a) (b)
(c) (d) O




(b) %

82.
57
(a) z (b)
(©) (d)
83.
(a)
(c) (d
84.
?
(a) (b)
(c) (d)

85.

87.

©

@ | T

DDO

ODD

aol]

@ | [log

© | oall

®) [

)

O+ @

(b)

(d

AN

oo

olo




88.

89.

(a)

(c)

(a)

(c)

(b)

(d)

(b)

(d

90.

[15]

@ [

© ([ ]

(b)

(d)

Ll




Space for Rough Work

[16]




Space for Rough Work
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Instructions to Candidates

Read the instructions carefully before you start
answering the questions. Answers are to be given on a
OMR Answer-Sheet provided.

I. In this Paper you are to answer 90 questions.
Each question carries 1(one) mark. You are to answer
all the questions.

2. Before you proceed to mark in the OMR
Answer-Sheet find out the correct answer from the four
alternatives (a), (b), (¢) and (d) against each question in
the Question Booklet. Darken the circle with a Black
Ball Point Pen, to the corresponding correct answer for
the item in the OMR Answer-Sheet.

Example : @ . @ @

(Here ‘b’ is the correct answer.)

3. If more than one circle is encoded or darken
against a particular answer, it will be treated as a wrong
answer.

4. There will be no penalty marks or negative
marking for a wrong answer.

5. You are to start recording answers with the
‘start’ instruction from the Officer-in-Charge of your
room/hall.

6. You are to write your Name and Roll No. in
the space provided with for this purpose on the OMR
Answer-Sheet. You must encode your Roll No. in
OMR Answer-Sheet,

7. The OMR Answer-Sheet should be handed
over to the Invigilator before leaving the Examination
Hall. You may take away the used Question Booklet
after completion of the examination.
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Mathematics

1.Ifa:b=2:3andc:
then a : (b+c) =
(a) 10:7
(b) 5:9
(c) 2:9
(d) 10:27

b=4:5,

2. What is the digit in unit place of

2
{(2x 4") + 1} for any positive integer n?

(a) 5
(b) 4
(c) 2
(d) 8

3. The L.C.M. of two numbers is 150 and
the ratio of the numbers is 2 : 3. Then the
difference of the numbers will be

(a) 125
(b) 75
(c) 25
(d) 50

4. x is a negative integer (x # —1), then
which of the following is correct?

1
(a.) x>;
1
(b) x<;

1
(c) x=;
(d) x%>1

5. One factor of x2+2x—(P+1)(P—1) is
(@ x-p-1
(b) x+p
) x~p+1
(d) x-p

1. Ma:b=2:3eRc:b=4:5%,
@ a: (b+c) =
(a) 10:7
) 5:9
(¢) 209
(d) 10:27

2. @ @A GAGF A n-93

{(2x4")2+1}-«ﬂﬁtﬂﬂmmiﬁ—
(a) 5
(b) 4
©) 2
) 8

3. 76 AT AL, 150 8 FeL 467 TS
2 : 3 Z0E IR T8 TE—
(a) 125
(b) 75
{c) 25
(d) 50

4. x T G0 AT AR (x % —1) | OIS
A @D 7 2

1
(a) x>;~

1
) x<—

1
(C) .1‘=;-

(d) x*>1

5 ¥ +2x—( p+1)(p—1) 97 G TeAmT T —
(@ x-p-1
(b) x+p
©) x-p+1
(d) x-p



6. m persons can do a piece of work in
n days. Which of the following is true?

(a) % remains unchanged.
(b) (m + n) remains unchanged.
(¢) (m—n) remains unchanged.

(d) m.n remains unchanged.

7. The remainder, when the square of an
odd natural number is divided by 8, is
(a) 2
(b) 3
(c) 1
d) 4

8. If the order of the digits of a positive
number with two digits be reversed then the
new number, thus obtained, will be 9 less than
the original number. Then the possible number
of such numbers is

(@ 9
(b) 8
(c) 10
(d) Cannot be determined

9. The mean of 3 numbers is 135. The
largest number is 180 and the difference of
the smaller two is 25. Then the smallest
number 18

(a) 125
(b) 100
(c) 135
(d) 90

10. If 37 = 1024, then 3"+ =

(a) 3
(b) 27
(c) 31
(d 9

[4]

6. @ WS IE m W e n Ww Face
A1 | THF @D 772

(a) % et fEE A |
(b) (m + n) weAfgadeamie |

(c) (m — n) SAfaaET1eT |
(d) m.n ARSI |

7. @ @ [rere FreifRe w2 a6t 8 w4
©l5 FR ZF SN TI—
(a) 2
(b) 3

()1
(d) 4

8. b 7o A3 Mg w=an 7w Afaen
TACE Wga ANY F2A ST FIT 5 9 T 57 |
A 9T WHE &S FeAm HeLn a—

(a) 9
(b) 8
(c) 10
(d) fefa @21 s78q 731

9. f&afb siena oie 135 @ ggew et 180 @2k
FAEF FAT iod WHF 25 Z(F FEH WY HeAnh 2o —

(a) 125
(b) 100
(c) 135
(d) 90

(ny/ -
10 37 = 1024 71 324 = awe)

(a) 3
(b) 27
(c) 31
(d) 9



11. A clock takes 10 seconds to strike at
6 O’clock. The time will be taken to strike at

11 O’clock =
1

(a) gahour
1

(b) gﬁhour

1
(c) 180 hour

) (%x 1 l]seconds

12. x, y are two co-prime positive integers.
L and H be their L.C.M. and H.C.F.
respectively. Then the value of L” is

X
@ 3
(b) x%y
(©) yx
(d) xy

13. Simplified value of

\/1-2—\fo-74—\/0-99—\/o-85—ﬂ s
(a) 2

(b) -1

() 31

@ 1

1 1 71

14. Ifa+ b+ c=15and l+_-+._=_
a b c¢ abc

then the value of a® + b* + ¢ — 3abc is
(a) 160
(b) 200
(c) 220
(d) 180

11. @i s 6 B A 9561 qers 10 Ciie
Y & | 9 11 Bt Area 9951 qiece Ty el —

1
(a) %“ﬂ‘%l

1

(b) 56‘&@
1

(C) Eﬁﬂ@

(d) [%x]l]ﬁﬁ@

12. x'8 yufb 4eISRs sk, it oFia e |
L ¢ H o5 OTWa ... € 9138, | OgE L-99
e I—

L
(a) y
(b) x%y
(c) yx
(d) xy

13. \/1-2—\/0-74—\/0-99—\/0-85—\/@
- g AJeTod e FT—
(a) 2
(b) -1
(c) 31
@ 1

14. a+b+c=15¢ l+l+l:ll_
a b ¢ abc
a’ + b + ¢ - 3abc -9 W LI—
(a) 160
(b) 200
(c) 220

(d) 180

[5]



e,

15. In the given figure, ABICD;
then ZPQR="? =
A—> B

c » D
(a) 60°
(b) 40°
(c) 20°
(d) 90°

16. If x+%=0-i, then the value of
81x* + 161x2 + 81 is
(a1
(b) 0
1
(c) 9

@ 5

17. If axb 2_2"1-_2’ (where a=#b), then

D))=
(@ 15

(b) -4
() 4

@ -3

o (-3

[where n is a positive integer 2 3]
2
(@) 5

n(n+1)

() =5

© %
@ 1

[6]

15, =wafow@ ABIICD; O LPOR =1 -

L8

P

c >
(a) 60°
(b) 40°
(0) 20°
(d) 90°

16. wzﬁ'x%:o-immsw\» 16122 + 81 =
CaUR

(@1
(b) 0
© 1

5
1
@ 3

17. W a *b=gf_:, (KA “a % b) W, R

(=5) * (-1) =F?
(a) 15
(b) -4
(c) 4
1
@ -3

¥

18. (1 —%)(1-%)(1 —%J ) (1-%) )
[ n @B g oot 2 3]

(@) % '
n(n+1)

b) —=

© -
(d 1




19. In which of the following cases AABC
(with positive area) can be constructed?
(a) ZB and £C are acute angles.
(b) B and £C are right angles.
(c) £B and ZC are obtuse angles.
(d) £B is obtuse angle and £C is
right angle.

20. In the given figure
LA+/B+LC+LD+LE+/F ="

D E
(a) 360°
(b) 180°
(c) 540°
(d) 270°
Physical Science

21. The weight of a freely falling body
under gravity of mass 500 gm is
(a) 980 dyne
(b) 0dyne
(c) 500 dyne
(d) 540 dyne

22. If the velocity of a particle is increased
by three times its Kinetic energy compared to
its previous value will be

(a) 4 times
(b) half

(c) 9 times
(d) one third

23. If a body is allowed to fall freely from
rest on the surface of the moon and on the
surface of the earth, the distance covered in
one second will be

(a) equal in both cases.
(b) greater in the moon compared to
earth.
(c) greater in the earth compared to
moon.
" (d) zero in the moon.

19. M52 @ CFT AABC (T G CHRaFeT)

EA I ES?

(@) ZB 8 ZC =& PR |

(b) £B 8 /C-43 &ATGIH AN |
(c) /B € /C-4a3 2ATSIb e |
(d) £B =& FI 6 LC 2 AR |

20. =wa 55
LA+ B+ /C+/D+ ZE+LF =97

(a) 360°
(b) 180°
(c) 540°
(d) 270°

cSrefaeia

21. SRR SRIE 500 gm SEE ST O
TEL 6T T
(a) 980 dyne
(b) 0dyne
(c) 500 dyne
(d) 540 dyne

22, @I SeTIN TENR (@9 Fowed FHE 93
sifefes Seer ToE =R
(a) 4o
(b) =d=
(c) 94
(d) G-TSmA

23. e AfA=ics (W 7 FEF W (40T /I
AL YT EF IS SSFIT 7Y

(2) ToaCHG AW |

(b) $17 +jRA7 g &)
(c) +|fR3re bR g & |
(d) Sioe= oo |

[7]
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24. Two bodies are in thermal equilibrium.
They must have equal

(a) thermal capacity
(b) sp. heat

(c) mass

(d) temperature

25. What is the value of absolute zero of
temperature in °C?

(a) 0

(b) —459-67
(c) 27315
(d) —273-15

26. At what temperature, the density of
water is maximum?

(a) 0°C
(b) 4°C
(e) 10°C
(d) 20°C

27. Which of the following is a good
conductor of heat?

(a) cork
(b) graphite
(c) wood
(d) air

28. In the case of reflection of light on a
plane mirror the angle of incidence is 30°, what
will be the deviation?

(a) 30°
(b) 90°
(c) 120°
(d) 150°

24, % A AT AGY AFC TYWI T
IS Sreely ST 2 2

(a) SRSt
(b) e Wit
(c) =9

(d) ot

25, A9 GRS WA °C-4 IS
(a) O
(b) —459-67
(c) 273-15
(d) —273-15

26. (@I SO TETF T A2
(a) 0°C
(b) 4°C
(c) 10°C
(d) 20°C

27. A @ s AR e
(a) o¢
(b) 2iriEs
(c) Fs
(d) Iy

28. FNee vt AfSFaE (FE NI
wiefed @l 30° 2=, It Rpfe Fo¢

(a) 30°
(b) 90°
(c) 120°
(d) 150°



29. The unit of electromotive force is
(a) Ohm
(b) Volt
(c) Ampere
(d) Newton

30. Two resistances 10€2 and 15€2 are
connected in parallel combination. If
equivalent resistance be x, then

(a) x < 10Q2
(b) x>10Q
(c) x> 1502
@) = 10302

31. Gamma ray is high energy

(a) electron

(b) proton

(c) neutron

(d) electromagnetic wave

32. The difference between the number of
neutron and the number of electron in *O,
atom is

(a) 2
(b) 8
(c) 10
(d) 18

33. The acidity of Calcium Hydroxide is
(a) 5
(b) 1
(c) 2
(d) 4

29, SfowiEs AT 95 o
(a) o=
(b) CoFT
(c) Sy
(d) feoa

30. 10Q @2 15Q 7 (g FAMGART AR I&
AR G A SIS (Y x A
(a) x<10Q
(b) x> 10Q
& x3 1542
(d) x=10-5Q.

31. siriaf 251 TwHife g

(a) ZERGA

(b) caiitw

(ORIER

(d) Sfepadm o7= .

32. lgog-wqc@ﬁ@ﬁwwﬁ@‘wawwoﬁq
kgl
(a) 2
(b) 8
(c) 10
(d) 18

33. RN ZRGIRET TEAES! 27
(a) 5
(b) 1
(c) 2
(d) 4



34. In galvanisation, whose coating is given
on Iron?
(a) Al
(b) Zn
(c) Ag
(d) Ni

35. Molecular formula of Chloroform is

(a) CHCl,
(b) CHCI,
(c) CHCI
(d) CHCl,

36. The example of an organic gas is
(a) Cl,
(b) H,
© O,
(d) CH,

37. Which of the following metals cannot
react with dilute HCI to displace Hydrogen
from the acid?

(a) Fe
(b) Zn
(c) Mg
(d) Cu

38. Among the following atoms, the lightest

atom is
(a) Uranium
(b) Protium
(c) Deuterium
(d) Tritium

34, EACSTREHE @A BT FoW A
ey 2y Y
(a) Al
(b) Zn
(c) Ag
(d) Ni

35. @ATEE HeAFE FCFO
(a) CHCl,4
(b) CHCl,
(c) CHCI
(d) CHCl,

36. @ (T IR TAZR &
(a) Cl,
(b) H,
© O,
(d) CH,

37. Sva wroelkr Ty @D @Y HCl-a9 X
e 0 SRS (AT PGS fegiam TS
A A

(a) Fe
(b) Zn
(c) Mg
(d) Cu

38. Tpa AEmeRiE T TREE TH MELIBIT
=
(a) TTRMAW
(b) canfbam
(c) waiBfaE
(d) Tomw

[10]



Life Science

39. Seed develops from
(a) Ovule
(b) Ovary
(¢) Style
(d) Stigma

40. Keratin present in hair and nails, is a
type of
(a) Carbohydrate
(b) Lipid
(c) Protein
(d) Vitamin

41. Which of the following may be used for
purifying air in space-ships?
(a) Fungus
(b) Virus
(c) Amoeba
(d) Algae

42. The cell organelle that is present in a
prokaryotic cell is
(a) Mitochondria
(b) Nucleus
(c) Ribosome
(d) Plastid

43. The hyposecretion of which hormone
can be the reason behind the stunted growth
of an adult human (with around 3 feet height)
being?

(a) Insulin

(b) Adrenalin

(c) QOestrogen

(d) Somatotrophic hormone

44, The plant that is used in skin
moisturisation is

(a) Aloe vera
(b) Garlic
(¢) Cardamom
(d) Pepper

Giew el

39. SiEe Seife =
(a) fo== (2=
(b) feam (U=
(c) sTewe (ATE
(d) e @F

40. BF ¢ W2 ToAES (@A T OF AP
(a) (&
(b) fifere
(c) ¢
(d) feBifiE

41. VI Y AT ST G S T
farm SRealm Wy @Eh TGS 2
(a) =4
(b) sizam
(c) Amoeba ( snfan)
(d) T=iatE

42. @ @ IR rfele @i THfre
AT, Ol 28
(a) RGN
(b) eizam
(c) FRgATE
(d) #me

43. (@l A T3 HAEE G Q3G AT
e 4TS g (Tl fom 36) 0@ AN ?
(a) Tfe
(b) srifg=fEm
(c) TS
(d) GIEIBGRFS ZaGiw

44, @3 SIEe! a0 @ Te GIZS T, O
(a) FoFR
(b) =
(c) &=
(d) csteTafan

[11]



45. An example of Kharif crop is
(a) Wheat
(b) Maize
(¢) Gram
(d) Mustard

46. How many cells are there in a virus?
(a) 0
(b) 1
(c) 4
(d) 50

47. Which of the following diseases is not
carried by mosquito?
(a) Malaria
(b) Filaria
(c) Plague
(d) Dengue

48. The name of the dead plant tissue is
(a) Parenchyma
(b) Sclerenchyma
(c) Meristematic tissue
(d) Collenchyma

49. Which of the following plants has spine
instead of leaves to stop transpiration?
(a) Coconut
(b) Mango
(c) Banyan
(d) Opuntia

50. Main reason of Global Warming is
(a) Deforestation
(b) Forest fire
(c) Volcanic erruption
(d) Misuse of water

45. 4T TEE @30 THEEY T
(a) =™
(b) 2o
(c) cmr=t
(d) @@

46. <33 330 @M B e e

. (@ 0

(b) 1
(c) 4
(d) 50

47, Fsfere sl s @W @il wiRiRe
A g ?
(a) syCEfER
(b) wiEEEa
(c) cgsr
(d) ce/cefs

48. @3l 79 Sfgn TR 7% =&
(a) IR
(b) FE=wE
(c) TG Tl
(d) EmE

49, fasfaie W Sfenfrs Aremmss iy 31
T SATSIR ARATE $i61
(a) WA=
(b) ==
(c) 3
(d) ===

50. o TRered S 2Kl R 25
(a) =15y e
(b) wRIwE
(c) waafaifas Sy
(d) =T ST

[12]




51. The largest animal cell of the world is
(a) Nerve cell
(b) Egg of Ostrich
(c) Muscle cell
(d) Epithelial cell

52. Name of the bacteria that helps in curd
preparation from milk is
(a) Yeast
(b) Lactobacilius
(c) Bacillus
(d) Monococcus

53. ‘Tabashir’-an important medicine used
for the treatment of asthma, cold and cough is
being derived from

(a) Sal

(b) Bamboo
(c) Neem
(d) Turmeric

54. Which one of the following is being
used in Leather Industry?
(a) Tannins
(b) Resin
(c) Morphine
(d) Caffeine

55. Roots of which plant can absorb oxygen
from air?
(a) Mango
(b) Sundari
(c) Coconut
(d) Carrot

51, Rovs gzes adicem =
(a) FEPF™
(b) THeifRa fow
(c) cof capst
(d) =I=ad

52. MK (S 72 TAWT AR TGOEA
I 28T
(a) 5
(b) FGIRTIETR
(c) TPE™
(d) SA==E

53. ‘saifRR-sremn @3k At B
TS G el ey | @2 eyul (@ Tfew (U
sihex T @IS 75

(a) *i=
(b)
(c) fam
(d) ==

54. Tty Tfe @b sifim aege =y
(a) Brifes
(b) F&«
(c) wafem
(d) =rifa

55. @ Sfen e 1Y (U SHTE (e A 2
(a) ==
(b) St
(c) T=F=
(d) st

F131]



[

History

56. The founder of Delhi Sultanate was
(a) Md Ghori
(b) Qutubuddin Aibak
(c) Iltutmish
(d) Sultan Mahmud

57. The Publisher of ‘Bengal Gazette’ was
(a) Alexander Duff
(b) Radhakanta Deb
(c) James Augustus Hicky
(d) Debendra Nath Tagore

58. The ‘Dual Government’ in Bengal was
introduced by
(a) Warren Hastings
(b) Robert Clive
(c) Lord Wellesley
(d) Lord Cornwallis

59. The Railway system in India was
introduced in the year

(a) 1833 A.D.
(b) 1843 AD.
(c) 1853 A.D.
(d) 1855 A.D.

60. ‘The Arya Samaj’ was founded by
(a) Dayananda Saraswati
(b) Jyotiba Phule
(c) Mahadev Govind Ranade
(d) Swami Vivekananda

61. The first ‘Viceroy’ of India was
(a) Lord Canning
(b) Lord Bentinck
(¢c) Warren Hastings
(d) Lord Dalhousie

[14]

56. ffEg SEroii WS I FEE
(a) w2 g1
(b) FEICTwe TIZTE
(c) Zergei
(d) IR M

57. ‘e oen’ o st TR

(a) SESSTE TIF
(b) TFE (74

(¢) cm ST
(d) CreaEY I

58, T CaS =P [ A P T

(a) ST B
(b) 730 PR

(c) G GTAEAR

(d) 6 e

59, B0 @A 2TE T
(a) 1833 B
(b) 1843 fABICH |
(c) 1853 f236rCw |
(d) 1855 fB1CA |

60. e 2fed TEfEEE
(a) I HETS!
(b) Cenife1 T
(c) TRTR (oM AT
(d) =R R+

61. SIATST AN SR s
(a) =6 g
(b) ¢ @FT=
() SR (2B
(d) =6 TRIE M



62. Ratha Mandira of Mahabalipuram were
made by

(a) Pallava rulers.

(b) Chola rulers.

(c) Rashtrakuta rulers.
(d) Chalukya rulers.

63. Who introduced ‘Mansabdari’ system?
(a) Babur
(b) Akbar
(c) Jahangir
(d) Aurangzeb

64. The founder of ‘Calcutta Madrasa’ was
(a) Jonathan Duncan.
(b) William Carey.
(c) Warren Hastings.
(d) William Jones.

65. The founder of ‘Satyashodhak Samaj’
was

(a) Jyotirao Phule.

(b) Atmaram Pandurang.

(c) Mahadev Govind Ranade.
(d) Narayan Guru.

66. The ‘Loksabha’ is presided by
(a) Vice-President
(b) Prime Minister
(¢) Governor
(d) Speaker

67. The literal meaning of ‘Sulh-i-Kul’ is
(a) Peace
(b) Religion
(c) Universal Peace
(d) Inheritance

[15]

62. TRRRIsETE aanrRetE i safeEe
(a) “=Q =P
(b) &Y >R |
(c) JMGLD =T |
(d) BT T |

63. TTRWIAI A HIEH (F FEA?
(a) K
(b) w4
(c) waifEE
(d) 8IFE

64. Terel MUY 2fSvre! fREw
(a) CEAILN TSI |
(b) TRFERM |
(c) eTCE o |
(d) TIfmm cee |

65. e e Afed S
(@) fome T@Al
(b) SR ~AGR |
(c) TR (SN AT |
(d) = o |

66. ‘ETS! HATABIE! T
(a) Toagelfe
(b) uwwE
(c) sT&+a
(d) et

67. F-3-Fer a7 wrElaE 9
(a) *if% '
(b) #f
(c) e =i
(d) Teafeda



68. In which stat® of India Ramanuja was

born?
(a) Kerala
(b) Tamil Nadu
(c) Andhra Pradesh

(d) Bihar

69. Aligarh Muslim University was

founded by
(a) M.A. Jinnah
(b) Abul Kalam Azad
(c) Shaukat Ali
(d) Syed Ahmed Khan

leader of the

70. Who was not the
ntioned persons?

Extremists among below me
(a) Lokmanya Tilak
(b) Lala Lajpat Rai
(©) Surendra Nath Banerjee
(d) Bepin Chandra Pal

71. The most
Swami Vivekananda was

(a) Madam Blavatsky
(b) Annie Besant

(c) Sister Nivedita
(d) Sarojini Naidu

72. Who is kno
Indian Constitution’?
(a) Mahatma Gandhi
(b) vallabhbhai Patel
(c) Dr. Rajendra Prasad
(d) Dr. B.R. Ambedkar

famous woman disciple of

wn as ‘The Father of the

(a) I
(b) SHREY
(c) SHACT
(d) ==

69. =TS aﬁ%ﬂz@ﬁ@% offHl T
(a) gv.« feme
(b) S P e
(c) HETS wifed
(d) T e A

70, Fafs YREwE 0 s pae(E) (ol T

17
(a) CEIFAI foera
(b) =it TEAS T
(c) T Sunied
(d) ffeeE A
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Geography

73. The contact zone of STAL and SIMA is
(a) Lehman Discontinuity
(b) Conrad Discontinuity
(c) Repetti Discontinuity
(d) Gutenberg Discontinuity

74. The Volcano which emits CO,, known
as
(a) Saffioni
(b) Fumarol
(c) Mofettes
(d) Salfatra

75. The famous architectural building built
with metamorphic rock is
(a) Taj Mahal
(b) Lalkella
(c) Shahid Minar
(d) All of the above

76. The contact zone between N.E. Trade
wind and S.E. Trade wind is called
(ay LTEZ.
(b) Roaring forties
(c) Howling fifties
(d) Horse latitude

77. Which of the following is not
precipitation?
(a) Snowtall
(b) Sleet
(c) Fog
(d) Drizzle

78. The cyclone originated in the Caribbean
Sea is called
(a) Tornado
(b) Typhoon
(c) Hurricane
(d) Willy Willy

grae

73, B ¢ B wma W [{EfE @z
(a) T fagfeta
(b) Fware Rgferas
(c) cafefie fagfetaa
(d) em=asf Ryfewa

74. @ smEEfE @@ CO, Fsfs 2@, o &
AT
(a) ifreH
(b) e
(c) wfHA
(d) AeT=nat

5. Folgiae Wam s faure geters v

(a) oiemrzs

(b) =

(c) if&w fiwr

(d) Toiare =ffeE

76. B2 sz WAl @ W o wEwar e
SET T T
(a) LT.C.Z.
(b) stEeRe BiEell
(C) GEPITATTG »feeera
(d) Sm ST

77. FmERewle g W S 592
(a) gA=ATS
(b) TG
(c) e
(d) <f% <fe R

78. ifafEam Ao 4B YR 1 &
(a) SwTe!
(b) TR
(c) gifewEs
(d) T2fr T
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29. The cloud which indicates clear 79. P SRRl AT T O
weather— (a) o
(a) Stratus (b)
(b) Nimbostratus ©) A
(c) Cumulus ()
(d) Cumulonimbus
0. World’s largest coniferrous forest is 80. facsa 3T ST I 2
(a) Taiga (a) tolt
(b) Campos (b) WA
(c) Paire (c) =&
(d) Selva (d) oTETel
g1. ‘Bhopal Gas tragedy’ was caused by 81. AR T EowIA T Wi 2giw BAME 2
(a) NO (a) NO
(b) CO (b) CO
(c) TNT (c) TNT
(d) MIC (d) MIC
82. ‘Disease of Dancing Cat’ is caused by g2, i@ oW ‘Disease of Dancing Cat’ @i
(a) Mercury £y ’
(b) Fluoride (a) W
(c) Arsenic (b) FEIE
(d) Cadmium ©) N TR
(d) P

83. The home made by the Eskimo in 83, afFmITE Srrram AT I

summer season is called (a) 25
(a) 1gloo (b) Hef=
(b) Tupic (¢) FEE
(c) Kayak
(d) Harpoon (d) =
84. ‘Cinnamon Island’ is the name of 84. e e I I o
____country. (a) WA
(a) Maldwip (b) TOI
(b) Bhutan (©) A==
(c) Srilanka (d) eI
(d) Nepal

[18]



85. Which of the following rivers originates
from Rocky Mountain?
(a) St.Lawrence
(b) Colorado
(¢) Amazon
(d) None of the above

86. Niagra water falls is located in between
two Lakes—
(a) Supirior and Huron
(b) Michigan and Erie
(c) Erie and Ontario
(d) Huron and Michigan

87. Which town is known as ‘Capital of
Rubber Industry of the world’?
(a) Chicago
(b) Akron
(c) Detroit
(d) Duluth

88. The temperate desert in South America
is
(a) Atakama
(b) Lanos
(c) Gobi
(d) Granchaco

89. The longest river in the Europe is
(a) Danube
(b) Volga
(¢) Rhone
(d) Rhine

90. ‘Ayar Rock’ of Australia made by
(a) Red Limestone.
(b) Red Marble.
(c) Red Feldsper.
(d) Red Sandstone.

85. AEhiRe welkr T @Eha ST 17
21T Y ?
(a) GG =A™
(b) FETATE!
(c) =rE=
(d) ToER @R 7

86. =ial TET SRES @ 7 ZE M
(a) Ff+ifema @ ==
(b) ffoei @ 34
(c) 4 e wroifse
(d) == ¢ fifpais

87. ‘Fem IRE FGE TRl (@R SZaE 36
e
(a) fe=sitsn
(b) SHIEH
(c) CeGEED
(d) w1

88. Wi STafa MfSHoRe Tg i %@
(a) oI
(b) FCAM
(c) MR
(d) s

89. TR Mow A6 28
(a) Wi
(b) e
(c) =
(d) =&

90. SRR wmE 7% e
(a) & pIANACT |
(b) =& W@ |
(¢c) & AN |
(d) = QA |
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Space for Rough Work
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